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1. ¥ {(a,8),(6,b)) represen
N ts an Identi
. ;)‘(BAS) b) (8, 8) G (6, 8) ) (Ge‘ns)fy function, then the value of aand b are respectively
. f:A— Bls abijective function and If n(B) = | - I i i
€7 b)49 ¢)1 d)14 n(B) 7 then n{A) Is equal to o i

)
3. The next term of the sequ ;3411 1 A 2 4
o sequence 15535175 18 &5 37 93 I &
4 InaGPIft =~ = - then the o] 1 5d) 7
- ,= 5 andt,= 7= then the common ratio is....... Gl b5 025 d) 5
5. IfAisa 2 x 3 matrix and B is a 3 x 4 matrix, how many columns does AB have

a)3 €)4 c)2 d)5
' 256 x%y*z" 16 [x*z* | 16|y |~ 18P
6. The square root of zsxﬁyszs a) 5 yz 16 x_zzT c) 5 |xz? @ 5|y
7 |f AABC is an isosceles triangle with ZC =90° and AC = Sem then AB is
a)2.5cm b)5cm c)10cm @5 J2 cm a -
8. The area of triangle formed by the points (-5, 0) (0, -5) and(5,0)is i
a) 0 sq.units b) 5 sq.units c) 5 sq.units d) none of thege 2% —— =

9, Ifsiopeaitheline PQis 7= theh Slopay

‘ 1
a)/3 B-y30 * 5 40
10. (secO + tan@) (secO — tan@) is...... 1 by-1 c)sindiq)0
5 » _ .
11. If 5x = secO and — =tan® thenx2— —7 isequalto a)25 @55 05 I .
12. The ratio of the volumes of a cylinder a con and a sphere, if each has the same diameter and same height
is_a)1:2:3 b)2:1:3 ¢)1:3:2 :1:2 ‘ . _
13. If ihe standard deviation of X, y, Zis p then the standard deviation of 3x-+ 5,3y+5, x+351s

a)3p+5@3p c)p+5 d)9p+15 : .9
X ;e ; - A
14. The probability of getting a job for a person is 3 - If the-probability of not getting the jobis 3 then the
(o viaue of xis a)2(®) 1 ¢)3 d)1.5 / iy
s _ ' SECTION-Il - ‘
iI. Answerany 10 questions only. 28 questionis compulsory.. ] 10x2=20

15. FindAxBifA={2,-2,3)andB = {1,-4}
16. A relation f : x — y isdefl Yf,(&)"'" 2.2\

X=122,~1,0,3)andy =R

i) List the elements of i) s F'is I feronce -
17. Write an AP whose firsttery [820'and common difference is8.
: ga%m.,.m-yk==44100thenfind1-ﬁ2+3+---+k
4} . 8 10t
o0 In the figure, AD is the bisector of ZA
it BD = 4cm DC = 3cm and AB = 6cm find AC b‘f

B 4cm D 3cm c
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21. Find the area of trlangle formed by thmntl (1,~1 ) (—4f 6) and (=3, "'5)

1
22. Prove that ,’tf”—'—g-mooewote

3. Flnd!hesloponndylntorcoptof J_x-r-(‘l J_)y'3

5‘; ::f't':i t:\c: vlolu:\o of a cylinder whose heig hf {8 2m and whose base erea ls ggpgq @ e o &
s al surface area of cone of radiug] I8 704 cm?, i "
2 28. The mean of a data s 25.6 and Its co-efﬂéfm of varlatlon is 1 G,ﬁhnd the ltandafd ﬁcvlatlon 4

!7 A and B are two events such that P(A) = — P(B) = = and F’(A and B)= 7 find

)P (AorB) Ii)P(notA and not B)
If @ and B are the roots of x + 7x + 10 =0 find the value of (- )

SECTION - il 8 ) -
Answer any 10 questions only. 42 Question |. compulsory. ‘ 10 x 5 = 50

29. Letf: A — B be a function defined by f(x) = -2— -1 where A = {2,4, 6, 10, 12} B (0 1 2 4, 5 9}

. Represent by i) set of odered pairs i) a table iil) an arrow diagram Iv) a graph
- Iff(x) =2x + 3 g(x) = 1-2x and h(x) = 3x prove that fo(goh) = (fog)oh

30

31. InanA.P sum of four consecutive term is 28 and the sum of their squares is 276 find the four numbers.
32. Find the sum to n terms of the series 5 + 55 + 555 +
33

. If Ox* + 12x3 + 28x? + ax.+ b is a perfect square, find the values of a and b.

28.

37. Find the equabon of the perpendicular bisector of the line jolnlng the polnts A(—4 2) and B(e —4)

088 4, 8t IS T

/N iﬂen prove that R sin®

1+ﬂ'\0 a +1

39. From I\etopcfa tower 50m high the angle of depressmn of the top and bottom of a tree are observed to
be 30° and 45° respectively. Find the height of the tree (/3 =1.732)

: Answer the following

43. a) Construct a APQR such thatQR- Scm :
(OR) .
b) Draw a circle of diameter 6cm from a polnt P, whlch is 8cm awayfmm Its ce
and PB to the circle and measure thejr lengths. -

44 a) Draw the gr.ph o’xy: 24 X, y,ousmgthegraphﬂnd I)ywhonx =3w H)xwhonyao

(OR)
*  Draw the graph of y = - 4 and here golve X* ~X—12=0

10.mmomaﬂa-2

2x8=16
DY PtoQRoflength42cm
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